&

| Sukp
CSTIRWAY T

-MANUAL SUPPLEMENT

SUKUP MFG. CO.
SHEFFIELD, IOWA 50475

829 '




This Stinway 11 Supplement is to be used with the
Stinway Installation & Openation Manual.

INSTALLATION ~ ~

1.  Install track at top of bin as shown in Figs. 1A and
1B in this supplement. For bins 30' and larger,
Fig. 1A applies; for bins smaller than 30', Fig. 1B

applies.
WHEN TRACK IS SECURE INSTALL FIRST SECTION OF TRACK
WITH TOP BOLTS.DRILL OR / WITH SEAM IN PLACE OF MISSING
PUNCH A 3/8" HOLE N WALL HANGER

FOR BOTTOM BOLTS

| r&Tyj | /;@pornms |
| AAARRFARAARL

\—STIRWAY TRACK

L J

p 26 00 00 ¢ 49 0

Fig. 1A

[

RING SEAM

For added strength, each track bracket should be bolted
in the two holes provided. The top hole will align with |
bin bolts, the second hole must be drilled through bin ’ ]
sheet using bracket as pattern. MAKE SURE THAT 3/8 x 1 :
BOLTS (WHICH CONNECT TRACK SEGMENTS) ARE MOUNTED POINTING :
OUTWARD TOWARD BIN WALL TO AVOID OBSTRUCTING CROSS TUBE.

BIN BOLT BIN BOLT
_BIN WALL

E )
Lt \
I g l PACER N
3/8 x 1 1/4 BOLY SPACER NUT
h -
)

AY
\_ —
STIRWAY \_
RAck 3/8 x 1 BOLT
BOLT POINTING OUTWARD
TO BIN WALL TRACK BRACKET
+
(-] -]
® STIRWAY TRACK7 A . &
: 51— L]
L -——::a“{ o’, ° sx=d
L ] OPTIONAL TRACK SUPPORT

| .—" ONE AT EACH SPLICE AND ONE AT
CENTER OF EACH PIECE OF TRACK

._,,_——-'*"-5/16 x 1 1/4'BIN BOLT
HOLE MUST BE DRILLED IN BIN WALL

Fig. 1B ]




2. Assemble machine as described on pages 5-7 of the
Stirway manual. ’

3. Bolt outer heavy duty gear motoxr and frame onto
outer carriage as shown on Fig. 2. Align sprocket
on gear motor with sprocket on cross tube. Attach
chain and check that it is tight.

erre————3/8 X 11/2 BOLT & NUT
(2 REQUIRED)
FLAT WASHER
LOCK WASHER

4

NO. 40 CHAIN—- " [

55 LINKS }'%ﬁi v
Zio-zzspaochT

Fig. 2

ELECTRICAL CORD TO CENTER HANGER




Install down augers as described on page 10 of manual.
A centrifugal switch casting will be installed on

each down auger EXCEPT the outer one, which will have
a mercury switch. Mount castings as shown on page 16

of manual.

Mount and connect 1% h.p. motors as described on page
10 of manual and Figs. 3-5 of this supplement.

3-AUGER STIRWAY 11
1 PHASE




4-AUGER STIRWAY II

FIG. 4

5-AUGER STIRWAY I1

FIG. 5



i?) 6. A. Bolt reversing switch to inside carriage near the
: center of bin as shown on Fig. 6.

B. Mount sail switches onto middle carriages as shown
on page 15 of manual and Figs. 3-5 of this supplement.

C. NOTE: Mercury switch is mounted inside the outer
gear motor and factory-set at desired angle.

5/16 X | BOLT + NUT -
(2 REQUIRED) : , . — CARRIAGE

L —

SAlL SWITCH

SWITCH ASSEMBLY

CASTING

Fig. 6




7. Connect reversing switch and sail switch as shown , -
in Fig. 7. : S

TO ELECTRIC BOX
ON CENTER HANGER

SAll. SWITCH
REVERSING SWITCH

TO 11OV PLUG . Fig. 7
ON “A' MOTOR

8. Place one capacitor in electrical box on center
hanger. Wire according to Fig. 8 of supplement.
(Capacitor for outer gear motor is mounted inside
motor frame.)

HANGER ELECTRIC BOX

BLACKS |
)_4ﬁymns
REDS
TO REVERSING WHITE 4 WHITE TO CENTER
SWITCH GREEN R 2 GEAR MOTOR
==,
BLACK; IWHITE
CAPACITOR
TO OUTSIDE

GEARMOTOR Fig. 8

9. Tape cords together and onto hangers so that they
do not fall into the grain.

10. When installing unit, make sure that chains are wrapped
around A-hangers as shown on page 18 of manual.




STIRWAY 11
SHITCH FRAME LENGTHS

STIRWAY 11 SWITCH FRAME LENGTHS
BIN DIA. |3-AUGERS | 4-AUGERS |5-AUGERS
L Guo) e G e Gay)
18" 24"
18'7" 24"
21" 33"
21'8" 33"
oy 1 24"
2141 g" 2nm
271 30"
27'10" 30"
30! 36"
31! 36"
33! 2"
3y . Il
36 1 ugn
3711 g
ug? ugn
42! gy
ug! 52"
8

S11677




	Installation
	Switch Frame Lengths

